D2992)5N 02023
092N 91

Ay 9190 X 919 3) 3xy ,(a 595 2) 2a

(22 5¥ >UNT 5T NN @) YW DT (22 5V DTPRN KN 2) DTPRD 2570 MK DN

DT DMDN DIRIPI FWRD TTN IMN MY DMIDON DD MY

_DIYT DN « 5ab? 3ab?

2
DT RY DN ¢ Sab 3a’h?

. FINAD NN DT DN P (DN 13aN5) DY 1)

5ab® + 3ab? = 8ab>
S INOINT DYRIN YTHN DX 1IN DMOTPHN AR 12N 1) NN OYRIN DTNV Y513

SX+2x+4x=(5+2+4)x=11x
3x+4y-2x-y=03-2)x+(4-1)y=x+3y
2x% + X +4x% -3x +7x = 2+ 4)x> +(1-3+7)x = 6x +5x

:1 NN
1. 3x+4x=
2. 6x—2x+3x=
3. 2x+5y-x=
4. 4x -2y +2x+8y =

5. 3x2-4x+2x%+5x=
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4x+2x+10x =

2X+Xx+14x =

6x+11x =

9a —5a =

3b+6b—4b =

—5x+2x =

12a% —20a” =

2a%b+3a’b =
_5a24+7a%-a’=
M+8+3M=
—y+5+6y-3=
—10x+7-3x+10=

_13ab2 +5+3ab” +10 =
_sxy?+2y 5 +4xy" =
17xy =7y = 3%y =

5a?b+ 3x’y +5a7b+10x"y =
_3x+10y+8“5"+20y=
lox — 5 +15xy +8+20x =

_6x2y’ -2y Fax2y}+10y° =

Dy ==
3x2y—8+2x7 +10-2XY =

:2 P
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8-y Tas | x2 | 4| & | @ | 4a | & 6x + 6y S
Xy +2+ 2 [ 20 Taxy-7y | 45 [4M+8| 40| b | 5 Xtx| 5
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L 3x+4x =(3+4)x = 7x
2. 6x—2x+3x=(6—2+3)x=7x
3. 2X+5y—x=(2—1)x+5y=x+5y
4. 4x-2y+2x+8y=(4+2)x+(8—2)y=6x+6y
5. 3x2—4x+2x2+5x=(3+2)x2+(5—4)x=5x2+x
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1. 4x+2x+10x=(4+2+10)x=16x

2, 2x+x+14x = (2+1+14)x =17x

3. 6x +11x =(6+11)x =17x

4. 9a—-5a=(9-5a=4a

3. 3b+6b-4b=(3+6-4)b=5b

6. -5x+2x=(-5+2)x = (-3)x

7. 12a*-20a% =(12-20)a* = (-8)a>

8. 2a’b+3a’b=(2+3)a’b=5a
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~5a% +7a% —a? = (-5+7-1)a? =2’
M+8+3M=(1+3)M+8=4M +8
—Yy+5+6y-3=(-1+6)y+5-3=5y+2
-10x+7-3x+10=(-10-3)x +7+10 = -13x +17

~13ab* +5+3ab® +10 = (-13+ 3)ab? +5+10 = —10ab’ +15

—5xy” +2y’x +4xy® = (-5+2+4)xy’ = xy?

17xy =Ty =3xy = 17 -3)xy — Ty = l4xy - Ty

2a%b +3x2y +5a%b +10x 2y = (2+5)a’b+ (3+10)x 2y = 7a’b +13x’y
—3x+10y+8—5x+20y=(—3—5)x+(10+20)y+8=(—8)x+30y+8
_10x_5+15xy+8+20x=(—10+20)x—5+8+15xy=10x+3+15xy
_6x2y? —2y® +4x7y’ +10y° = (-6 +4)x’y’ +(2+10)y° =2y’ +8y’

3x2y—8+2x2 +10—2xzy=(3—2))(2y—8+10+2x2 :x2y+2+2x2
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5a-3b=(5-3)-(a-b)=152b
15ab =15ba : DN 1TO X NNVYDY D) 1)
4x-3y-7z=(4-3-7)-(x-y-z) = 84xyz
2X -6x:3x = (2-6-3)-(x-x-x)=36x3
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1. 3a-7b=
2. 2X‘4x=
3. 12M-2b-3¢c =

2 DN
1. 2X '5X =
2. 11x -4y =
3. 12M-5b =

4. (=2x)-(-3b) =
5.  (-30M)-(-20n) =

6. 2k'10k:

7. (—2x)-4b-(-3x) =
8.  (-6x)-7x-(-2b)=
9- Sx ‘(—Zb)-x =

10. (-22b)-3M-(-b) =
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20k? .6 10x2 ) 21ab 0,
24x%b 7/ 44xy 2 8x2 7
84x%b 8 60Mb 2 72Mbc 3
—10x%b .9 6xb 4
66b°M | -10 | 600Mn | -5
:1 DY
3a-7b=(3-7)(a-b)=2lab
2x-4x = (2-4)(x - X) = 8x*
12M -2b-3c = (12-2-3)(M-b-c) = 72Mbc
12 NN

2% -5x = (2-5)(x - x) =10x”

11x -4y = (11-4)(x - y) = 44xy

12M -5b = (12-5)(M - b) = 60Mb
(=2x) - (=3b) = (~2) - (=3)(x - b) = 6xb
(~30M) - (-20n) =

2k -10k = (2-10)(k - k) = 20k >

(-2x)-4b-(=3x) = (-2)-4-

(=30) - (-20)(M - n) = 600Mn

(-3)(x-b-x)= 24x*b

(=6x)-7x - (=2b) = (=6) - 7 - (=2)(X - X b) = 84x°b

5x-(=2b)-x = (5-(-2)-)(x-b-X) = (-10)x”b

(=22b)-3M - (=b) = (—22) -3-(-1)(b-M-b) = 66Mb”
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+(x+4y—3z) =x+4y—3z
—(4a—b? +5¢) = —4a+b% —5¢

:1 N
1. +(Bx+2a-4b)=
2. -(1la—4b+9c) =
3.  —(-13x+5y-4x?)=

:2 PN

1. +(-2a+b+3c)=
2. +(4a-2b+9c)=

3. —(5x+T7y-Ty+5y) =

4. - (2x+10y—4x +3y) =
S. -(10x-12y+5x)+(7Tx —4y-12) =

6. +(x—y+5)—(10y—-5y)=
7. +(2x-39)—Gx+D+{7-3x) =

8. —(Bx+y-2)+By—x+4)—(-4x+2)=
9. +(2x-35y)—(-2y+3-4x)+(6y+x+5) =

10. -B3-x)+Q@By-7)-(2x-5y)=
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X—6y+5 —2a+b + 3¢ 1 3x +2a-4b 1
—6x -3y 4a—2b+9c - -lla+4b-9c | 2
2y+4 . —5x = 5y B 13x — S5y +4x? | .3
Tx+3y+2 9 2x — 13y 4
—-10—x+8y | .10 —8x + 8y — 12 5
:1 D
1. +(3x+2a-4b) =3x+2a-4b
2 —(1la—-4b+9c)=(-11)a+4b—-9c
3.  —(-13x+5y—4x%)=13x - 5y + 4x>
12 NN
1. +(-2a+b+3c)=(-2)a+b+3c
2. +(4a—-2b+9c)=4a-2b+9c
3. —(5x+Ty—Ty+5y)=(-5)x—-Ty+Ty-5y=(-5)x-5y
4. —(2x +10y—4x +3y) = (-2)x — 10y + 4x -3y = 2x - 13y
5. _(10x—12y+5x)+(Tx —4y—12) = (F10)x +12y ~5x + Tx —4y ~12.=

=(-8)x+8y— 12

6. +(x—y+5)—(10y—5y)=x—y+5—10y+5y=x—6y+5

7. +(2x—3y)—(5x+7)+(7-3x)=2x—3y—5x—7+7—3x=(—6)x—3y
8. —(3x+y—2)+(3y—x+4)—(—4x+2)=
= (—3)x—y+2+3y—x+4+4x—2=2y+4
+5=
9 +(2x—5y)—(—2y+3—4x)+(6y+x+5)=2x—5y+2y—3+4x+6y+x
=Tx+3y+2

_(-D)x+8y-10
10. —(3—x)+(3y—7)—(2x—5y)=—3+x+3y—7—2x+5y (-D)x +8y
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3(x+4)=(3-x)+(3-4)=3x+12

2x(3x +5)= (2x-3x)+(2x -5) = 6x* +10x
~3Q2y+7)=(-3-2y)+(-3-7) =-6y - 21

(X -9)—4(6—X) =X -9+ (=4-6)+(—4-—X) = X =9 - 24+ 4x = 5x - 33

:1 P
1. 32x+7)=
2. 6x(x+5) =
3. —4(-x+8)=

:2 DN
1. 8(10+3x)=
2. 6(Tx+4)=

3. 5x(2x+7)=
4.  6(2x+9-8y)=

5. 43y —-11x+12) =

6. 7x(9+3x)=
7. 2x(15-x) =
8 3a(2b+4)=

9.  10b(3+2a)=
10. —3@+12)=
11. —7(3)("‘11):

12. -6(x-9)=
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=5(-2x+4y+2)=
~8(3x—y+2)=
-3a(l+b-2¢c) =
-T(x-y+8)=
-5x(3y-x) =

7(4x - 5)-8(x - 2) =
9(2x +5)— 3x + 4)8 =

-9(3x+4)+5(4x - 6) =
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2P :1 PN
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-21x+77 80 + 24x i ox+2] R
—6x + 54 42x +24 2 6x2+30x | 2
10x-20y—10 | 4 10x% + 35x 3 4x-32 | 3
—24x + 8y — 16 b [ 12x+54-48y | &
—3a — 3ab + 6ac | 12y —44x +48
—Tx+7y-56 63x + 21x2
—15xy + 5x* 30x — 2x2
20x — 19 6ab + 12a
—6x + 13 30b + 20ab
—7x — 66 -3a-36
11 PN
32x+7)=(3-2x)+(3-7)=6x+21
6x(x +5) = (6x - X) + (6 -5) = 6x” +30x
—4(-x+8)=(-4-—x)+(-4-8) = 4x-32
2 NN

8(10+3x) = (8-10) + (8- 3x) = 80 + 24x

6(7x +4) = (6-7x) + (6-4) = 42x + 24



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

5x(2x +7) = (5% - 2X) + (5% - 7) = 10x* +35x
6(2x +9-8y) = (6:2x)+(6-9) + (6 (-8y)) =12x + 54 — 48y
43y —11x +12) = (4-3y) + (4- (=1Dx) + (4-12) =12y — 44x + 48

7x(9 +3x) = (7x-9) + (7x - 3x) = 63x +21x?

2x(15—x) = (2x -15) + (2x - —x) = 30x — 2x>

3a(2b+4) = (3a-2b)+ (32-4) = 6ab +12a

10b(3 + 2a) = (10b-3) + (10b - 2a) = 30b + 20ab

~3(a+12) = (-3-a)+(-3-12) = (-3)a - 36

~73x —11) = (-7-3x) + (=7 - (-11)) = (-21)x + 77

—6(x —9) = (—6-X) + (=6 - (<9) = (—6)x + 54

—5(=2x + 4y +2) = (=5--2x) + (=5-4y) + (-5-2) = 10x — 20y - 10
—8(3x—y+2)=(-8-3x) + (-8-—y) + (-8-2) = (-24)x + 8y — 16
—3a(l+b—2c)=(-3a-1)+(-3a-b)+(-3a-—-2c) = (~3)a — 3ab + 6ac

—T(x-y+8)=(=T-X)+(-7-—-y)+(-7-8) = (-T)x + Ty — 56
- 5%x(3y — x) = (=5% - 3y) + (=5x - (-X)) = (=15)xy + 5% >

T(4x = 5)—8(x=2) = (7-4x) +(7-=5) + (-8 - X) + (-8 (=2)) =
=2&—35-8x+16=2(k—19

92x+5)-(3x+4)8=(9-2x)+(9-5)+ (-8-3x) +(-8-4) =
=18x+45-24x-32=(-6)x +13

—9(3x +4) +5(4x = 6) = (=9-3x) + (=9-4) + (5-4x) + (5 - —6) =
=-27x-36+20x —30=-7x —66
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(3+a)(4+b)=(3-4)+(3-b)+(a-4)+(a-b)=12+3b+4a+ab
A

_(3_2)(a+3)=—(a2 +8a-2a-16)=—-a’-6a+16
6(x +5)(x —4) = 6(x* —4x +5x —20) = 6x” +6x ~120
2+3)@4-1)=
.5:3 =15 nonnxsimny oy DX

. 0YIN0 NN R ININT ) OX P17 NI

(2'4)+(2'—1)+(3‘4)+(3-—1)=8—2+12—3=15

:1 N1
1. (a+5)(b+2)=
2. 3(x +7)(6+X%) =
3. —8(x-3)(x+95) =

:2 PN

1. (a+c)(x+y)=
2. (x+7(@B-x)=
3. (a+4)(a-6)=
4. (x+2)(x+7)=
5. (M-9)M+3)=
6. (x-3)(x-4)=
7. (m=-9)(5+n)=
8. 2x+7(x+4)=
9.  (2x+5)(3x+6)=

1. (2x+4)(3x +8) =
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9x +5)(2x = 3) =
(5x — 4)(6x —3) =
2y -5)y+6)=
—(X+3)(x+2) =
—2(x-9)(x—1) =
T(x +2)(4-x) =
~(10x +4)(1-x) =
-3(7Tx +1)(2x —1) =
~(3x-5)9+x)=

(x—2)(x+7)—(x+3)(x—6)=

093N 249 Y95 MAIVn
NIYN DNV NAYN NNV YN >
18>~ 17x—15 | 11 | ax +ay+cx +cy 1 ab+2a+5b+10 |
30x2-39x + 12 | .12 x2+Xx+56 | -2 3x2 + 39x + 126
2y* + 7y — 30 13 a’-2a-24 3 —8x2 — 16x + 120
—x>-5x-6 .14 x*+9x +14 -4
—2x2+20x - 18 15 M?_6M -27 -
—Tx*+ 14x+56 | .16 x2=Tx+12 6
10x2—6x -4 | 17 n’—4n - 45 o
—42x2+15x+3 | .18 2x% + 15x + 28 -8
3x2-22x+45 | 19 | 6xZ+ 27x +30 9
8x +4 20 6x2 + 28x +32 .10

(a+5)(b+2)=(a'b)+(2'a)+(5‘b)+(5-2)=ab+2a+5b+10

3(x+7)(6+x) =3(6x +x* +42+7x) =39x +3x2 +126

—8(x =3)(x +5) = —8(x” +5x - 3x ~15) = (-8)x® ~16x 4120

:1

Rt



10.

11.

12.

13.

14,

1.

16.

17,

18,
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(a+c)(x+y)=(ax +ay+cx+cy)

(x+7)8-x) = (8x—x” +56—7x) =x - x* +56
(a+4)a—6)=(a’ —6a+4a—24)=a’ —2a-24
x+2)(x+7) = (x> +Tx+2x+14) = x> +9x +14
M-9)(M+3) = (M* +3M-9M-27) =M* -6M 27
(x-3)(x-4)= (x24x -3x +12)=x2-Tx +12
(n-9)(5+n) = (5n+n’ —45-9n)=(—4)n+n*-45
2x+T)(x+4) = (2x* +8x +7x +28) = 2x% +15x +28
(2x +5)(3x +6) = (6x* +12x +15x +30) = 6x% +27x+30

2x +4)(3x +8) = (6x” +16x +12x +32) = 6x% +28x +32

9x +5)(2x-3)= (18x2 —27x+10x-15) = 18x2-17x-15

(5x — 4)(6x —3) = (30x* —15x —24x +12) = 30x2 —39x +12
2y —5)(y+6) =2y’ +12y—-5y=30) = 2y% +7y-30
-(x+3)(x+2) = (x> +2x+3x+6)=—x2 -5x-6
_2x=9)(x 1) =2(x" ~x-9x+9) = (-2)x* +20x - 18

Tx+2)(4-x) = T(4x — x> +8-2%) = 14x — 7x* +56
~ (10x + 4)(1-x) = -1(10x _10x2 +4—4x) = (-6)x +10x> —4

_3(7x +1)(2x — 1) = -3(14x* —Tx + 2% = 1) = (—42)x> +15x +3

~(3x=5)(9+x)=-1(27x +3x? —45-5x) = (-22)x = 3x* +45

(X—Z)(x+7)—(x+3)(x—6)=(x2+7x—2x—14)—(x2—6x+3x—18)=

—x245x—14—x2+3x+18=8x+4

$2 NN
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2x + 8 = 2-x+2-4 = 2(x+4)
Sy +10 = 5-y+5-2 =  5(y+2)
4x + 6x> = 2x-2+2x-3x = 2x (2 + 3x)
x3 + 5x2 = X2 -x+%x%-5 = x2 (x +5)
1 AP
1. 3x+15= 4. 2x+6y=
2. Sxy-10x = 5. 2x’y+6y=
3. 3b*+2b=
2 DN
1. 5x —10y =
2. 6b+42=
3. 1Gb+5b=

4.  2x?+10x°

5. 12x? +48x

6. 2b*+b=
7. 3x% — 6x +9xy =
8. 4x? +12x +8x> =

9. 2ab+dac=
10. 15xy +20yb =
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NIYN NINY nIvn NINY nIYUn | ANy
b(2b + 1) 6 | 5:x-2y) | 2 3(x + 5) 1
3x(x =2 + 3y) 7 6(b +7) 7 5x(y —2) 2
4x(x+3+2x) | 8 | 5p2a+1) | 3 b(3b+2) | -3
2a(b + 2¢) 9 221 +5x) | & 2Ax+3y) | &
5y(3x + 4b) 10 | 12x(x+4) | 5 2y(x2+3) | 3
:1
3x +15 = 3(—31+£) =3(x+5)
3 3
5xy —10x = Sx(%—?—:) =5x(y-2)
2
32 +2b=b 2+ 22| b@Eb+2)
b b
2x + 6y = 2(%’% %yj = 2(x +3y)
2x2y+6y=2 27y O | gyx? +3)
12 PN

5x - 10y = 5(25_1%1) = 5(x = 2)

5

4
6b + 42 =6(66—b+—62—)=6(b+7)

10ab + 5b = Sb(
5b

2x2 +10x3 = 2x2(

0301

5b

e

3
2x2 10x —2x2(1+5%)
2x2 2X2




10.

12x2 48x
12x 12x

12x2 +48x=12x( ] 12x(x +4)

2
2b2 +b= b[—ZE—Jr%] b(2b +1)

3x% —6x +9xy = 3x 3L—6—X oxy =3x(x —2+3y)
3x  3x  3x

4x? 12x  8x°
+ +
4x 4x 4x

4x% +12x +8x> =4x[ J=4x(x+3+2x2)

2ab 4ac

2ab + 4ac = Za(
2a 2a

) 2a(b + 2c¢)

15xy-+20yb=5y| -2 20ybj 5y(3x +4b)
5 Sy
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